Practice Paper - 3 (2023-24)

CLASS: 12th (Sr. Secondary)
HOME SCIENCE

ACADEMIC/OPEN

[Hindi and English Medium] [Time allowed: 3 hours] [Maximum Marks: 60]
forder : 1. Tt oot ifAard § 1

2 UIATEAT 1 W15 dH U AS IWT 1 3H Al g URA TEIAT 16T 21 dah IcAh T & 37,

T TE&AT 22 T 27 T Tcdeh 92T died 37eh dUT a1 H&AT 28-30 IId-dia F h g |
Instructions: 1. All questions are compulsory.

2. Question numbers 1 to 15 are of 1 mark each, question numbers 16 to 21 are of Two
marks each, question numbers 22 to 27 are of Three marks each and question number 28-30

are of Five marks each.
SgidshedIg 92t

( Multiplé Choice Questions)
1. STaTV] T g & it & oI s & aleT A fEufey 3rafare gieir 872
a. Il I A=A b7
c. 3Td araHTT d. 390 Tl

Which of the following conditions are required for the growth of bacteria?
a. Sunlight b.Moisture c. Optimum Temperature d.All of the above
2. ITHTFAT TIETOT AT (PIIRT) e IR fohar Ir=ar?
a. 1986 # b.1990 #
c.1980 # d.1995
When was the consumer protection act (COPRA) passed?
a. 1986 b.1990
c.1980 d.1995
3. AR H IMANENT T FAT F HleT AT T &Y Hhl 672
a. 1879l b. sSiaTdeT c. TRIAdT  d. ITelEIS

Which Disease can be caused by the deficiency of lodine in the body?



a. |Infertility b. Dwarfism c. Anemia d. Goitre.
4. feameat & Ricud g1
a. 37T b. FJele .ol d. ||
Design Principles are ..... ?

a. Proportion b.Balance c. Rhythm  d. All of these

5. 8(HR GaRT HaTfard FAfahd dTel faehra A1sfer & 3ideid &1
a. ITAaTE) FRRA & b.STIE{2AT HRT &
c. ey g A & d. 390 gt

Is it under the Integrated child development scheme run by the government?

a. Aanganwadi is working
b. kindergarten is working
c. Child care center is open
d. All of the above

6. GYUNUT & &7F H hifd fhdet o &y g7
a g b.Ste T o c.AEEAN  dPE
Who has brought revolution in the field of communication?
a. The Press b. Technology c. Mobile d. None of these.

Fill in the blanks-:

Give the answer of following questions in one word or one line-:
10. B[ IRRETSH ll-hlef & §?
What are the household preservatives?

11. TreT T e TFY T SATAT 872



Which country is known as the “Center of Fashion’?
12. ARYAFIOTEART ... Y TRTET fhaT ST &7
.......... is preserved by the pasteurization method?
13. i) U a7 &Y HUAT Y JTABUA (A) TUT HROT (R) & & F 3ifehc fohar T 8|

HASY (A): AR FhR 6T @34, TR, T TUT FeATae T TANT Hieh I H o
TS ST Thell g |

$ROT (R): I g€ &I fe@ae #r I Sa11ar g |
AT T 910 fdehoul & @ GaTtieh 3Ugerd fdehed &l T hifoil-

a. 3fAFYT (A) 3R HROT (R) 1T T&T & 3R HROT (R), AfARAA (A) FT TET AT ¢

b. 3ifAwYw (A) 3R FRT (R) &l &Y & difehet ROT (R). 31Ah2eT (A) T T carear 787 &1
c. 3ITAFUT (A) ET & faheT HROT (R) ITeld &1

d. 3fHHUF (A) ITeId § Afehed HROT (R) TET L

The two statements are given below marked as Assertion (A) and reason (R )-:

Assertion ( A) Rhythm can be brought to clothes by using different types of lines, shapes,
colors and textures.

Reason (R) - Rhythm makes the appearance of the cloth.
Select the most appropriate option from the options given below-

a. Both Assertion (A) and reason (R ) are True and reason ( R ) is the correct explanation
of Assertion (A)

b. Both Assertion (A) and reason (R ) are True and reason ( R ) is not the explanation of
Assertion (A).

c. Assertion (A) is correct but Reason (R ) is wrong.

d. Assertion A is false but Reason (R ) is correct.

14. A ET 1T A FUAT FT ITHBUT (A) TAT HROT (R) & T F ifhd foham ram g1

TRFUA (A) : W 3cUTGe TAHT il T THA: T F8T 3cTGeT 3GAT 6|

SRUT (R) T 3cUTEs o ATETH § TIe 3cUIGT Sl G357 SITHEAT Sl HidT o HeT&T 3
YA I IR T ST &

oA feT a7t fashoul & & Hallftieh 3ugerd fasheq &1 T3 HifaiT-

a. 3fAFYUA (A) 3R FROT (R) AT TET § 3R FROT (R), 31fHRT (A) Fr T e g

b. 3ifFY= (A) 3R FRT (R) &l &Y & Afehet ROT (R), 31T (A) FHr TEY carear 787 &1
c. 3ITAFUT (A) TET & faheT HROT (R) ITeld &1

d. 3fRHUF (A) ITeId § Afehed HROT (R) TET L



The two statements are given below marked as Assertion (A) and reason (R )-:

Assertion ( A) food production is probably the largest production industry in the present
times.

Reason (R) - Through food production food products are prepared on a large scale to
meet the demand of a large population.

Select the most appropriate option from the options given below-

a. Both Assertion (A) and reason (R ) are True and reason ( R ) is the correct explanation
of Assertion (A)

b. Both Assertion (A) and reason (R ) are True and reason ( R ) is not the explanation of
Assertion (A).

c. Assertion (A) is correct but Reason (R ) is wrong.

d. Assertion A is false but Reason (R ) is correct.

15. =i & 91T &F YT FI 3THFTA (A) TUT FROT (R) & T H 3ifohd fhar sar g1 5

HTFRY (A) @I SAfaIcl WM (pathogen) FaTHwT TR & WreeIeie AaT S foh FshaoT
3T AT dar 3cue<T T &

SROT (R) : % SHTURT 3127aT FEASA! TH Bl & Sl Wied Ferdf 7 ugel & 3R g1d & a1
o forelY fariw aRTEATY 7 3797 oo9d & | Trey verdf 3 & gawshar i 3ufeafa 8 faffies war
% T 3o B & |

AT T 910 fdeheul & & gatieh 3ugerd fdehod &l TgeT HIfeTT-

a. AU (A) 3R FROT (R) ST Tl & IR HROT (R), ATHRUT (A) T TET ATEAT B |

b. 31fAEY (A) 3R FRT (R) &l &Y & difehet ROT (R), 31T (A) T T carear 787 &1
c. 3ITAFUF (A) ET & feheT HROT (R) ITeld &1

d. ATAFRYUA (A) eI § eifched HROT (R) TET &

The two statements are given below marked as Assertion (A) and reason (R )-:

Assertion ( A) Food Borne pathogens cause various types of foodborne diseases such as
Infections and poisoning.

Reason (R) - There are many organisms or microorganisms which are already present in food
items or grow in them under certain conditions. The presence of such microorganisms in food
items causes various types of diseases.

Select the most appropriate option from the options given below-

a. Both Assertion (A) and reason (R ) are True and reason ( R ) is the correct explanation
of Assertion (A)

b. Both Assertion (A) and reason (R ) are True and reason ( R ) is not the explanation of
Assertion (A).

c. Assertion (A) is correct but Reason (R ) is wrong.



d. Assertion A is false but Reason (R ) is correct.
16.3¢ATAAT & IS T &TOT TATHT?

What are the two characteristics of entrepreneurs?
17. SNP 3R IDD &7 91 #A1H Fe13iT?

What is the full form of SNP and IDD?
18. gIeel § 31T T THSTA 872

What do you mean by Hotel?
19. AT TaT Tl U §7?

What are the secondary colors?

OR

TH.G1.31T R &9 # Fre forgl|

Write a short note on F.P.O
20. @1 3rafAHT #2471 §? 30T G|

What is Food Adulteration? Give an example.

21. Th13e 3R ST F 39 41 THSTT &

What do you mean by scout and guide?
OR

3rEUTe AR RTaRrTore thers # #31 3idav 87

What is the difference between Fashion Fads and Classic style?
22. gl (SIAITATE) A 3T FAT GHSIA &7 b FAT ATH g |

What is Ergonomics and what are the advantages of it?
23. 3TN & HTARRT FT TAEAR & JoTT HFU?

What are Consumer Rights? Explain these in detail.
24, TS Hehe fhA g 872 3eTeoT et o3|

Define Chemical Hazard? Give an example.

25. YRS STeATTEAT 3R FAST & 371 36T § |

2X6

3X6



What are the objectives of Early Childhood Care and Education?
26. 33 el ToFa9d &I H819 H quie &I |
Describe the Red Ribbon Express.
OR
AT AIYOT 7 §2 5T Y ford@n|
What do you mean by Corporate Communication? Write its functions.
27. JaTHT & HAeAMel glel o T HROT 82
Why are youth vulnerable? Give reasons.
OR
PEM & 3119 &1 TSI 82 el 3 G1leT Siofl Huryor Y hall & ahiet & 97 g1 STt 872

What do you mean by PEM? What type of diseases are caused by Protein Calorie
Malnutrition in children?

ESSAY TYPE QUESTIONS
28. A GINh dcdl T el ¥ glel aTel ATt ohT 0T Y|
What are the consequences of Micronutrient Deficiencies?
OR
3eR Fafercar & & 3R &, 8% a1 36T 87
What is Diet Therapy and what are the objectives of it?
29. 3YHFAT3T I &7 ufafeet diaT-dlet d FHEATIN FHT FTHAT FAT IS 872
Explain in detail the problems faced by consumers in today's life?
OR
fEairseT & RAffea dca Fia-sla & §2 auia H|
Explain the different elements of Design?
30. @ieT uereif & @S glel & HROT dled-hled H 872
What are the causes of food spoilage?

OR



AffeT Tl F a3 T @YW Ud TWIETT & TIT GAT F 37 arer HTaTSH IYHIUI T
TR & gula 1?2

What are the essential equipment used in care and maintenance of clothes in different
institutions?



